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1. oo fa@Es o Tes o 1x4=4

Answer the following as directed :

(@) T RCrF @I QI 2

What is an indifference curve?

(b) TATSIER TG Y T OGOl TS LA

The revealed preference theory of
consumer’s behaviour is based on

(i) RIS | SR oS

consistency
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(2)

(1) A& FATHA S*AS
strong ordering
(i) BIfEwA 4ATEE S BfEFFTIA SqS

positive income elasticity of demang

(iv) Qo[ JAFCACAR
All of the above
(™m Taeo1 91fe %ﬁ\gm )

( Choose the correct answer )

(c) T TATH FYE BT XA

The slope of the isoquant line is
dK

() MRTS, x =——-

i) MRTS = —
(11) L, K T
dL
i) MRTS o el
(t) AT
dL

(o% TeCH! A Sfereay )

( Choose the correct answer )

(d) - v AR &2
What is peak-load pricing?
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Q. wus Byrees B oo sfabm asws 5y e B

drd=|F

Write short noteas on any four of the

following

fa)

srcars Boqrarere) wHE

Indirect utility function

(b) TEYAY o9
Expansion path
(c) SfARS wrS I RBo1eA-FAFTHI 7S
Economic profit vs. Accounting profit
(d) CFEHA HISR AR T
Social cost of monopoly power
(e) == RiFoR &N
Oligopoly
3. (a) Tercfrer s e R Ie2 T HEAS
cFae SoIfrel SR qRech! (IR foas
KIS RIS SN 2+6=8
What do you mean by utility
maximization? Graphically explain the
concept of utility maximization in case
of two goods.
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&%3 / Or

m) ToE fa sewe s SrE WEES O
I AT 41 4+4=8

Explain the ordinary and compensated
demand curves with the help of suitable

diagrams.

4. (a) 9% IFET THWWR OFES g GRATH
AfBT o1e a7, oS ARASTAN 37, TS L
W HF AMfEE I A FAN (ONE TS
TS AP @IPTR S 1 | 2+2+2+2=8

Explain the average fixed cost, average
variable cost, average total cost and
marginal cost of a firm with the help of a
hypothetical example. Draw the relevant
curves with your comments.

%<1/ Or

(b) BT &2 @RS @B RIS ST
IR T W, (O ZFIEAN TRATH T
oG 53 & 92 TIM=R T BI© [avd

AT S S 2 F1Re 7T |
2+4+2=8
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5. (a)
(b)
P25/1538

(5)

What is a production function? What
are the three stages of the short-run
production function when one variable
input is used? Under which stage of
production, the rational producer will
produce? Give reasons.

1 afecrfirenee quma Seomm v g3
ZFFIA SRTTS] SCAB 41 | =4 afcafaem
TS o Beme Afed @e e Mfrere

SRTSIAF TS S BRI 1A 2 6+2=8

Discuss the short-run equilibrium of a
firm under perfect competition. Why a
firm under perfect competition cannot
earn  supernormal profit in the
long-run?

AT/ Or

o afSwier w@me w1 Seomm afeprrE=
M NF 0¥ Dite TR I@E Q@A
(N T = M7 F497 |

Draw and explain the long-run market
supply curve with the entry and exit of
firms under perfect competition.
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(6)

6. (a) awatemmqﬁ@@mavﬂﬁ%@’$$aﬂswaTﬁm|
g e Afvr Sfefie Ao oz

etz I 41 | 2+6=8

Define excess capacity of a firm. Explain
excess capacity of a firm with the help of

a diagram.
%<1/ Or

(b) & e 2 @ Restiedd s Gesia
AfSBIR TA SF Teor e 9o Baq SRS
T 41 | 2+6=8

What is price discrimination? Explain,
with the help of a diagram, the price
and output determination in a price-
discriminating monopoly.

7. (@ TR S F &2 2745 =fZ3 Teummr Bz
BT TR AR Tmmels @
4L ? 4+4=8

What is Cournot model? How does the
output decision in Cournot model differ

from the output decision in 2 monopoly?

3k 6F { Continnued
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<41/ Or

®) A s B gowr @R RowEa-RR
IO SBTS 74 o BeoAma AR o1 B
STERS 0] 7 | 2+6=8

What do you understand by cartel?
Explain, with the help of a diagram, the
price and output determination under
market-sharing cartel.
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